Qr‘kume,n‘l’ ﬁ-‘l

3
Problem #2: Growing S’s

Question 1. Consider the pattern below. How many square tiles would there be in the eighth step of this pattern?
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Th the eighth atep of this pattern ,there arc oS Sguare +les

Question 2. Write an expression for the total number of square tiles in the figure at an arbitrary step (n) of the pattern.

n2+l

Question 3. Prove that your expression is a valid representation of the number of tiles at step n of the pattern. You may
use drawings, words, numbers, and/or symbols for your proof.

See e dmwma) above.
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We do the Same For step n of The pa#&ffe and we
will jcr‘ nxn+ 1 or (n*n) +les,
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Problem #2: Growing S's

Question 1. Consider the pattern below. How many square tiles would there be in the eighth step of this pattern?
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Tn thie @&‘H’U‘O, the number of Spuare tileg i TThe eghth
Step would be egual +o 05,

Question 2. Write an expression for the total number of square tiles in the figure at an arbitrary step (n) of the pattern.

L(’;!’_T be ~the ‘f'b'f'a/ number of 74/6.{ and n be The sz,p
jn he Series. “Then The Series can ke represented @5 .
T=n%+/

Question 3. Prove that your expression is a valid representation of the number of tiles at step n of the pattern. You may
use drawings, words, numbers, and/or symbols for your proof.

TIh each sStep of ~he e—choCHm, we are iww (n+)) rowsg
ard ("""0 columns. From “the Nt ard fast columns , we

are m:..s.ffhj 7 num ber of Jzuar—(,g, F}omﬁ,}/ we jd’ 776
“guation T= tt1)ntl) —2n

“This means That S cach step . We 747‘ a Sguare maode wp o
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Side of ~the bi77¢/ Syuare, which 1S rcpmm.;zﬁéw o Ad
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Problem #2: Growing S’s

Question 1. Consider the pattern below. How many square tiles would there be in the eighth step of this pattern?
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“There would be S Hles in The 8* ofep,

Question 2. Write an expression for the total number of square tiles in the figure at an arbitrary step (n) of the pattern

nxn + 1

Question 3. Prove that your expression is a valid representation of the number of tiles at step n of the pattern. You may
use drawings, words, numbers, and/or symbols for your proof.

?roo-?i Show That [(nxn)+! 1S a valid mpr&m/’ﬂ‘ién of The

Prevsous Pa-H-ern Shown.

Let n be the arbifrang step 11 The pa,/’ﬁm, Lef S 56’“"*@ The.
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@xﬂ)—k) = S
50 /6‘/’ n bé‘/ﬁc /5%5712// So )’W ﬁavc /S—X/S—~ 22§
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Problem #2: Growing S’s

Question 1. Consider the pattern below. How many square tiles would there be in the eighth step of this pattern?
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Question 2. Write an expression for the total number of square tiles in the figure at an arbitrary step (n) of the pattern.
2
Nt |l

Question 3. Prove that your expression is a valid representation of the number of tiles at step n of the pattern. You may
use drawings, words, numbers, and/or symbols for your proof.
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For +the ﬂaﬁwﬁ, Wt a/wm,/_( fae The fame pnumber o J;?ﬁr
ovd number of ﬁ/cs/g/m pne M cach next step.
Step Two we hue 2 setz of 2 Frfes plus 0% &y oth
Sho Hhee we havy 3 Lets o 3B Nfes Plus one.
Step hur we have Y el oF Y Prles plus ore.
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So mth ferm would be n* /.
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Problem #2: Growing S’s

Question 1. Consider the pattern below. How many square tiles would there be in the eighth step of this pattern?
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“The ew“ll’h 5+¢p ovt A< PA?‘A'J/? W/r// have é-(sﬁum Hles .

Question 2. Write an expression for the total number of square tiles in the figure at an arbitrary step (n) of the pattern.

Step n 2 h+n + (n-1)Cn~1)
= 2n + (n-1D7

Question 3. Prove that your expression is a valid representation of the number of tiles at step n of the pattern. You may
use drawings, words, numbers, and/or symbols for your proof.

T lemthof 2 —> r

+
() = (n=Dn=D)
n i LS n+n+ (-)(n~1)
- | lengthot n —> N

= 20 +(n-1)"*

Letb A be the number of Step i hig P«‘Heﬂ),

The first and lasF riws Consist of N pumber of Sguare
Kles ., The middle ?0,—7‘7'0,,, consicty of %bﬂfma number
O‘L columnst and prows ot Szbwcré /e and It cgue/
+ one less +han the SHep Number,



